L31-1

NAME: STUDENT #:
EECE 259: Introduction to Microcomputers Lecture QUiZ Mar 22, 2011

Design a flowchart (or use C) and an assembly program to convert the value of a decimal number represented
by a null-terminated ASCII string at label TEXT into an unsigned 32-bit binary number. This ASCII string
contains only the ASCII characters “0” through “9”. The string may contain leading zeros, and it will only contain
valid values between 0 and 4294967295 (23 -1). Store the result in memory at label NUMBER. For the example
given below, your program must place 0x00007fff at label NUMBER. Similarly, the text “0123” must result in the
value 0x0000007b stored at NUMBER. Hint: convert character “0” to number 0 by subtracting “0”, ie “0” — “0” = 0.

.include “ubc-delmedia-macros.s”
.global _start

.data

TEXT:

.asciz “32767”
ZERO:

.ascii “0”
NUMBER:

.word O

.text
_start:



NAME:

L31-2

STUDENT #:

EECE 259: Introduction to Microcomputers

Lecture Quiz Mar 22, 2011

Consider two separate null-terminated strings starting at labels NEEDLE and HAYSTACK. Design a flowchart
(or use C) and an assembly program to find the starting memory location of the first occurrence of the NEEDLE
in the HAYSTACK. Store this location in memory at label MATCH_ADDR. If NEEDLE is not present, store the
value OxFFFFFFFF instead. Do not exceed the length of the strings. For example, if HAYSTACK starts at
0x00001000 and contains “The Search is Over” and NEEDLE contains “ear”, the program would write

0x00001005 to MATCH_ADDR.

.include “ubc-delmedia-macros.s”
.global _start

.data

HAYSTACK:

.asciz “The Search is Over”
NEEDLE :

.asciz “ear”

MATCH ADDR:

.word OxFFFFFFFF

.text
_start:
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